Welland Gouldsmith School
Class 1
Arithmetic

Problem Sums based on Addition:

Answer Key:
1)
T (0]
Number of toffees 3 6
Number of samosas | +4 | 2
Number of items in 7 8
all

Ans : There are 78 items in all

2)
T O
Number of Boys 3 |4
Number of girls +5 |0
Number of students 8 |4
altogether

Ans: There are 84 students altogether in the class.

3)
H T 0]
Number of red 3 |4 5
Kites
Number of +2 |2 3
Blue Kites
Number of 5 |6 8
kites
altogether
Ans: Ravi painted 568 kites altogether.
4)
H T 0]
Number of 1 |3 3
apple trees
Number of +3 |4 5
mango trees
Number of 4 |7 8
trees in all




Ans: There are 478 trees in all.



